WBWBRADEARDEEEZDSND BER (Pr.N0.2629+a— A)

(e)Prince Kochan's Production

RIEI. ROXNZRZDERUIREON, @ —-x?-5x+36 @ 4x°+12x+9 ® —-12a?+270b7?

@ 2a?+14a+24 =—(x?>+5x-36) =(2x)2+6%(2x)+9 =-—3 (4a2-90b?)
=2(a?’+7a+12) =—(x—4)(x+9) =(2x+3)2 ==—3 ((2a) 2= (3b) ?)
=2(a+3)(a+4) =-3 (2a+30b)(2a—30b)

8x2-18 RN, ROXZHEBDHELUIRSUN,

@ 5x?+10x+5 =2(4x2-9) ® x?-20xy+100y°? BN, ROXZRBDHEUIESUN,
=5(x?+2x+1) =2((2x) 2—9) =(x—10y)(x—10%y) D (a+b)?’-3(a+b)—4
=5(x+1)2 =2 (2x+3)(2x-3) =(x—10y)2 a+b=X&EHL

(a+b)°—3(a+b)—4

® -2x°-4x+16 F3 9x2+24x+15 @ a’+4ab+4b? =X*-3X-4
=-2(x%2+2x-8) =(3x)2+8x%x(3x)+15 =(a+2b)(a+2Db) =(X+1)(X-4)
=—-2(x—2)(x+4) =(3x+3)(3x+5) =(a + 2 b)? =(a+b+1)a+b-4)

@ —-y?’+6y-—-9 BIEL. ROXEREDEEUIRE0N, ® a?-8ab+160>b?2 @ (x+y)??—-10(x+y)+16
=—(y2—-6y+9) ® 4x2+10x+6 =(a —4 b)(a —4 b) x+y=X&HBL
=—(y—3)? =(2x)2+5%x(2x)+6 =(a — 4 b)? (x+y)?2-10(x+y)+16

=(2x+2)(2x+3) =X’-10X+16

® 4x°+8x+4 @ 4x2+12xy+9y? =(X-2)(X-8)
=4(x?+2x+1) @ 9x2+24x+16 =(2x)?+6yx(2x)+9y°? =(x+y—2)x+y—-8)
=4(x+1)2 =(3x)2+8x%x(3x)+16 =(2x+3y)(2x+3y) ® (a+b)x+(a+bd)(y+=2)

=(3x+4)2 =(2x+3y)2 a+b=X&EBL

® —-3y2+18y-27 (a+b)2x+ (a+b)(y+2)
=—3(y?—6y+9) ® 9a?+30a+25 ® 25y2-10xy+x?2 =Xx + X(y + 2)
=—(y—3)2 =(3a)’?+10x(3a)+25 =x?-10xy+25y? =X(x+y+2)

=(3a+5)? =(x—5y)(x—-5y) =(a+ b)(x+y+2)
=(x—-5y)2
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a(x — y)+ bx — by
x—y=X&BL

a(x —y)+ bx — by
=a(x—y)+b (x—y)
= aX + bX

= X(a + b)
=(x—y)(a +b)

(x+y)2+3(x+y)+2
x+y=X&BL
(x+y)°+3(x+y)+2
=X’+3X+2
=(X+1)(X+2)
=(x+y+1)(x+y+2)

(a+b)2—2(a+0b)+1
a+b=X&EHEL

(a +b)°—2(a+0b)+1
=X’-2X+1
=(X-1)°
=(a+b-1)2

mx—2y)+n(2y—x)
x—2y=X&HL
m(x—2y)+n(2y—x)
=m(x—-2y)+n(—x+2y)
=m(x—2y)—n(x—2y)
= mX— nX
=X (m—n)
= (x—2y)(m—n)

(x—3)2-16

x—3=X&BL
(x-3)2-16
X2 -—-16
X+4)(X-4)

(x—3+4)x—3—4)

(x+1)(x—-7)

(RI##)

©)

(x—3)?-16
x?—-6x+9—16
x’—-6x—7

(x+1)(x—-7)

a(x —y)— bx + by
x—y=X&EBL

a(x — y)— bx + by
=a(lx—y)—b (x — y)
= aX— bX

= X(a — b)
=(x—y)(a—b)

ax—3a—x+3
x—3=X&BL

ax—3a—x+3

=a (x-3) - (x—3)

= aX —X
=X (a—-1)
= (x-3)a-1)

BV RORZEEDHELILS0N,

D@ x3+x2+x+1
=x?2 (x+1) + (x+1)
= (x+1)(x2+1)

@ x34+4x2-x-1
=x2(x+1) — (x+1)
(x+1)(x2—1)
(x+1)(x+1)(x—1)
(x+1)(x—1)

® x’+xy+4x+4y
=x (x+y) +4 (x+y)
= (x+y)(x+4)

@ x°-y?+2x-2y
= (x+y)(x—y) +2 (x—y)
= (x—y)(x+y+2)

® x2-3xy+3x—-9y
=x (x-3y) +3 (x—3y)
= (x—3y)(x+3)

® a?—ab - bc+ ac
=a?—ab+ ac — be
=a (a—b) +c (a—b)
= (a—b)(a + ¢)
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@ x4-x2+x-1

= (x2)2—x2+x-1

=x2 (x2-1) +x-1

=x2 (x+1)(x—1) + (x—1)
= (x-1)(x2 (x+1) +1)

= (x—1)(x3+x2+1)

BIEVI ROXZREDERUIRE,

® x2-y?-6y-9
=x2—-(y2+6y+9)
x?—(y+3)y+3)
x?=(y+3)?

{x+(y+3) {x—-(y+3)}

(x+y+4)(x—y—3)

@ x2-y?+6y-9
=x?-(y?2—6y+9)

x?=(y—3)y—3)

x?-(y=3)?

{x+(y—3) {Ix-(@—3)}

(x+y-3)x—-y+3)
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